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PART-A

1. Answer in one two sentences. (Any 5) 5
Define language.

What is a mistake?

What i1s applied linguistics?

What 1s passive competence?

What i1s an induced error?

What is an allomorph?

What is semantics?
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2 Answer in not more than 50 words. (any 5) 15
How does a linguist work?

What are the limitations of animal communication?

What are the aspects of structural approach to linguistics?
What does phonology deal with?

What is the nature of learners' language?
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Identify the global and local error: "Rani when refused me
I invite her to a film"

7 What are free and bound morphemes? Give examples.
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3  Attempt any two in not more than 250 words. 20

a.
b.
C.

Discuss the factors affecting second language learning.
What are the distinctive features of human language?
How does the application of linguistic theories help teaching
and learning languages?

PART B

4  Fill in the blanks with appropriate words chosen from the 8
brackets.

1.

LAD is about language

(A) learning

(B) grammatical competence

(C) performance

(D) acquisition

A feature of animal communication is that
(A) it is an open system

(B) it has dual structure

(C) 1t 1s a closed system

(D) it 1s arbitrary.

Passive competence means

(A) ability to use grammar

(B) ability to use only a set of vocabulary
(C) not able to use the forms of language
(D) not able to comprehend.

Mistakes are of language use.
(A) temporary lapses
(B) errors

(C) dewviations

(D) permanent lapses.

Errors are the of language learning.
(A) negative aspects

(B) sign posts

(C) mistakes

(D) rule deviations.

The word * donate' originated from 'donation'. It is an example
of

(A) back formation

(B) cranberry

(C) acronym

(D) compounding.
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7. Yesterday I was met him near the cinema. The error type
in this utterance is

(A) application of incomplete rules
(B) overgeneralization
(C) morphological
(D) fossilization.
8.  Derivational affixes modify label of the morpheme.
(A) grammatical
(B) functional
(C) both grammatical and functional

(D) phonological and grammatical.

5 Answer in not more than 100 words (Any two) 10
a. Discuss the features of psycholinguistics.
b. Discuss the functional approach to linguistics.

C. What are the causes of learners' errors in 1.2?

6 Write short notes. (Any three) 12
(1) Inflection and derivation
(2) Acquisition and Learning
(3) Describe the errors:
(@) Dad she slapped you?
() I was passed M.A. English from Saurashtra
University.
(4) Blends, Back formation and acronyms.

(5) Significance of errors.
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